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Solved Examples

1. Find the principal soulution of the following

1
equation : sinf = — 3

.Y I


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HC6zz7BbVAuH
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2. Find the principal and general solution of

secr = 2

o Watch Video Solution

3. Find the principal soulution of the following

equation:cotz = — /3

o Watch Video Solution



https://dl.doubtnut.com/l/_HC6zz7BbVAuH
https://dl.doubtnut.com/l/_8DHltQFAjI0n
https://dl.doubtnut.com/l/_qnhnyfLXVUpB

4. Solve the following trigonometric equation :

coshfd = 0

° Watch Video Solution

5. Solve the following trigonometric equation :

sin®30 = 0

o Watch Video Solution

6. Solve the following trigonometric equation :

tanne = 0


https://dl.doubtnut.com/l/_sSlQDpEUcWBB
https://dl.doubtnut.com/l/_WhEz6yKXDLla
https://dl.doubtnut.com/l/_cquNW1T85Xnv

o Watch Video Solution

7. Solve the following trigonometric equation :

cot’ pz = 0

o Watch Video Solution

8. Find the most general values of 6 satisfying the

equation :sinf = — 1

° Watch Video Solution



https://dl.doubtnut.com/l/_cquNW1T85Xnv
https://dl.doubtnut.com/l/_pMeG6C8LjQUb
https://dl.doubtnut.com/l/_CiH06YPa09yL

9. Find the general value of #

9 — 1
cos bt = 5

° Watch Video Solution

10. Find the most general values of @ satisfying

the equation : tanf = — /3

o Watch Video Solution

1
11. Solve the trigonometric equation : sin 20 = 3

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_7zNY41iRb1vX
https://dl.doubtnut.com/l/_NVlnXinsgRXd
https://dl.doubtnut.com/l/_8UfYZIv6OZFZ

12. Solve the trigonometric equation

coshl = — 3

o Watch Video Solution

13. Solve the equation cot z + tanx = 2cos ecz.

o Watch Video Solution

14.Solve 7cos? 0 + 3sin 0 = 4.

| 8


https://dl.doubtnut.com/l/_8UfYZIv6OZFZ
https://dl.doubtnut.com/l/_OyL4tEC6jDHF
https://dl.doubtnut.com/l/_czPtcE88oQsB
https://dl.doubtnut.com/l/_WLDlSQOSZRrB
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15. Solve the equation secz = sec(z + )

o Watch Video Solution

16.Solve tan 6 + tan 20 + /3 tanftan26 = /3.

o Watch Video Solution

17. Solve that following equations

2
tanf+ tan (6+(pi)/3)+ tan <9 + Tﬂ) =3

f


https://dl.doubtnut.com/l/_WLDlSQOSZRrB
https://dl.doubtnut.com/l/_FXd1YP4Gcyn0
https://dl.doubtnut.com/l/_MgmQYLQmSE5o
https://dl.doubtnut.com/l/_FxtmAEhMajH2
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18. Solve sin 5x = cos 2.

o Watch Video Solution

19. Solve the equation tan 2z = — cot (zc + %)

o Watch Video Solution

20.If 3tan(d — 15°) — tan(@ + 15°) = 0.Find 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_FxtmAEhMajH2
https://dl.doubtnut.com/l/_XBkov8sJvzoE
https://dl.doubtnut.com/l/_aOC5QIUhkndN
https://dl.doubtnut.com/l/_P8yuwN8vYZYo

21. Solve the equation : sin® § = sin® «

o Watch Video Solution

22. Solve the equation : cos? = cos’

° Watch Video Solution

23. Solve the equation : tan? § = tan®

o Watch Video Solution



https://dl.doubtnut.com/l/_P8yuwN8vYZYo
https://dl.doubtnut.com/l/_0bTf5qfHlsI0
https://dl.doubtnut.com/l/_QgbiT2sK7AYq
https://dl.doubtnut.com/l/_qmJnRmNskY56

24. If tan(cot ) = cot(tan ), then prove that:

m(2n + 1)sin26 = 4

° Watch Video Solution

25.If (1 4+ tan A)(1 4 tan B) = 2, find all values

of A + B.

o Watch Video Solution

26. Solve the equation

3 1
sin(z — y) = % and cos(z +y) = 3


https://dl.doubtnut.com/l/_8r3MXZZ3eJBa
https://dl.doubtnut.com/l/_ZyfETBDZxfEQ
https://dl.doubtnut.com/l/_laPEOn6QK25u

o Watch Video Solution

27. Solve the equation

sinztanxz — 1 = tanx — sinx.

o Watch Video Solution

28. Solve the equation 2tanf — cot 0 +1 =0

° Watch Video Solution

29. Solve the equation sinmz + sinnx = 0


https://dl.doubtnut.com/l/_laPEOn6QK25u
https://dl.doubtnut.com/l/_JUalzBwfc0Ir
https://dl.doubtnut.com/l/_eHVtYJbZPDeS
https://dl.doubtnut.com/l/_KLsxMiYrEOg4

o Watch Video Solution

30.Solve : sin90 = siné.

o Watch Video Solution

31. Solve the equation sec? 2z = 1 — tan 2z.

o Watch Video Solution

32. Find the general solution for each of the

following equation: sinx + sin3x + sinbz = 0


https://dl.doubtnut.com/l/_KLsxMiYrEOg4
https://dl.doubtnut.com/l/_rIcLU4hiRjRL
https://dl.doubtnut.com/l/_QavkigAFyZhi
https://dl.doubtnut.com/l/_CL37HT34lIzZ

o Watch Video Solution

33. Solve the equation

4sinxcosx + 2sinx +2cosxz +1 =0

o Watch Video Solution

34.The general value of 0 satisfying the equation

tan® @ + sec20 = 1is

° Watch Video Solution



https://dl.doubtnut.com/l/_CL37HT34lIzZ
https://dl.doubtnut.com/l/_s3ZAtU00fMNy
https://dl.doubtnut.com/l/_opcHWQC08fGp

35. Solve the equation tanx + secx = 2cos x

o Watch Video Solution

36. Solve the equation 4cos x — 3secx = tanz.

o Watch Video Solution

37. Solve

2sin’x — 5sinzcosz — 8cos’x = — 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_Y4O15jrZgxyS
https://dl.doubtnut.com/l/_C84pGxTEJ5oh
https://dl.doubtnut.com/l/_lJ7fn0VjYZhC

38.Solve cos @ - cos20-cos30 = —,0< 0 <

A~

o Watch Video Solution

39. Solve 4 sin x sin 2x sin4x = sin 3x.

o Watch Video Solution

40. Solve the equation

(1 —tan#)(1 + sin26) = 1 + tand

o Watch Video Solution



https://dl.doubtnut.com/l/_O6SNKabV9Pr2
https://dl.doubtnut.com/l/_9mFVD7stQ3ZU
https://dl.doubtnut.com/l/_XXZFPKjRfceO

41.Solve sinx + 1/3cosx = /2

o Watch Video Solution

42.Solve the equaiton : 2sinz + /3sinz = 0

o Watch Video Solution

1. Find the pricnipal solution of the trigonometric

1
equation: sinz = 2


https://dl.doubtnut.com/l/_j156HYAVq3Zc
https://dl.doubtnut.com/l/_upnNK8XquGRk
https://dl.doubtnut.com/l/_JlvRkpzao52Q

o Watch Video Solution

2. Find the pricnipal solution of the trigonometric

1
equation: tanz = ——

V3

o Watch Video Solution

3. Find the pricnipal solution of the trigonometric

V3

equation: sinz = 5

° Watch Video Solution



https://dl.doubtnut.com/l/_JlvRkpzao52Q
https://dl.doubtnut.com/l/_A11QGCUbU24n
https://dl.doubtnut.com/l/_XyksDBBx7SUA
https://dl.doubtnut.com/l/_UIlti4VsThl1

4.Find the pricnipal solution of the trigonometric

1
equation: tanz = —

V3

o Watch Video Solution

5. Find the pricnipal solution of the trigonometric

equation: cotz = — /3

° Watch Video Solution

6. Find the pricnipal solution of the trigonometric

equation: cosecx = — 2

.Y I


https://dl.doubtnut.com/l/_UIlti4VsThl1
https://dl.doubtnut.com/l/_p8eWhUNJcOv5
https://dl.doubtnut.com/l/_4PgbyggWBR7W
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7.Find the pricnipal solution of the trigonometric

equation: tanz = — /3

° Watch Video Solution

8. Find the pricnipal solution of the trigonometric

2
equation: secr = — —

V3

o Watch Video Solution



https://dl.doubtnut.com/l/_4PgbyggWBR7W
https://dl.doubtnut.com/l/_2lqcHsAGRen3
https://dl.doubtnut.com/l/_nFV3B9xPflfx

9.Find the pricnipal solution of the trigonometric

equation: tanz = /3

° Watch Video Solution

10. Find the principal solution of the equation

. V'3
SINTr — T

° Watch Video Solution

11. Find the principal solution of the equation

1
tanex = — —.

/3


https://dl.doubtnut.com/l/_kHFCGDKnETuC
https://dl.doubtnut.com/l/_nTmxYhlg5vPH
https://dl.doubtnut.com/l/_XbdDoYYpP0me

o Watch Video Solution

12. Find the principal solution of the

trigonometric equation: cos ecx = 2

o Watch Video Solution

13. Find the general solution of the trigonometric

equation : tanbx = 0

° Watch Video Solution



https://dl.doubtnut.com/l/_XbdDoYYpP0me
https://dl.doubtnut.com/l/_l9wv7Eo1jRJF
https://dl.doubtnut.com/l/_qMN7KSRtKpQB

14. Find the general solution of the trigonometric

equation : sin® 2z = 0

° Watch Video Solution

15. Find the general solution of the trigonometric

equation : cos® 4z = 0

o Watch Video Solution

16. Find the general solution of the trigonometric

equation : cot® 50 = 0


https://dl.doubtnut.com/l/_IFPB2V9nrFqR
https://dl.doubtnut.com/l/_ELIPgrMjvrLF
https://dl.doubtnut.com/l/_0BB8FMgGMDnw

o Watch Video Solution

17. Find the general solutions of the following

V3

equation: s [hn = 5

° Watch Video Solution

18. Solve the following trigonometric equation:

tan30 = —1

o Watch Video Solution



https://dl.doubtnut.com/l/_0BB8FMgGMDnw
https://dl.doubtnut.com/l/_daA18lzmv9Cq
https://dl.doubtnut.com/l/_QuB64J18ldSI

19. Find the general solution of the trigonometric

equation : sec20 = — 2

° Watch Video Solution

20. Find the general solutions of the following

V3

equation: cos § = — >

° Watch Video Solution

21. Find the general solution of the trigonometric

1
equation: cos 5 = — —

V2


https://dl.doubtnut.com/l/_LJcrosZZzQ4N
https://dl.doubtnut.com/l/_O9UYrWhiWssO
https://dl.doubtnut.com/l/_Jv6QuYaYb4Mm

o Watch Video Solution

22.Find the general solution of the trigonometric

1
equation : sind3x = —
V2

° Watch Video Solution

23.Find the general solution of the trigonometric

1

equation: cosxT = B)

o Watch Video Solution



https://dl.doubtnut.com/l/_Jv6QuYaYb4Mm
https://dl.doubtnut.com/l/_3Z0WFcotJ61N
https://dl.doubtnut.com/l/_POaXsGnvJYny

24.Find the general solution of the trigonometric

V3

equation:sinxz = — >

° Watch Video Solution

25. Solve the trigonometric equation
3cos? 6 + 7sin’ 9 = 4

° Watch Video Solution
26. Solve the trigonometric equation

tanx + tan2x + tanx tan2z =1


https://dl.doubtnut.com/l/_i81tJcJwdzkp
https://dl.doubtnut.com/l/_RLRKWUAV6dmf
https://dl.doubtnut.com/l/_rMYwR6dbaCpb

o Watch Video Solution

27. Find the general solution : cos 4 = cos 2z

o Watch Video Solution

28. Solve the trigonometric equation

tanx + tan2x + tan3x = tanx tan 2z tan 3x

° Watch Video Solution



https://dl.doubtnut.com/l/_rMYwR6dbaCpb
https://dl.doubtnut.com/l/_OA9YV14yQnAy
https://dl.doubtnut.com/l/_MDBYLUlvco3P

29. Solve the trigonometric equation

sin3x + cos2x =0

° Watch Video Solution

T T
30. Solve :tan(Z + 0) + tan(z — 0) =4

° Watch Video Solution

31. Solve the trigonometric equation

Y
tan2x = — cot(a: -+ 3)

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_iukMTDJOG5al
https://dl.doubtnut.com/l/_hsgooRocyOLn
https://dl.doubtnut.com/l/_AHMpTCdBv4cC

32.Solve the equation sinmz + sinnx = 0

o Watch Video Solution

33.Solve the equation : tanz tandx =1

° Watch Video Solution

34. Solve the equation

cos 0 = sin 105° + cos 105°



https://dl.doubtnut.com/l/_AHMpTCdBv4cC
https://dl.doubtnut.com/l/_AIuliX4hPI4K
https://dl.doubtnut.com/l/_IFyW5ewAzZ7K
https://dl.doubtnut.com/l/_WkUM3FwAI0KW
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35. Solve the equation : tanz + cot z = 2

o Watch Video Solution

36. Solve the equation : tanx + cot x = 2

o Watch Video Solution

37. Solve the equation sec’ 2z = 1 — tan 2z.

o Watch Video Solution



https://dl.doubtnut.com/l/_WkUM3FwAI0KW
https://dl.doubtnut.com/l/_1vIImtUe3nIy
https://dl.doubtnut.com/l/_7sapp1i3T0wa
https://dl.doubtnut.com/l/_sceL5pBhmPLf

38. Find the general solution

s€2x +cosx =0

o Watch Video Solution

39. Find the general solution of the trigonometric

equation: tan®* z — 3tanz = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_sceL5pBhmPLf
https://dl.doubtnut.com/l/_GUEynzZPNzsi
https://dl.doubtnut.com/l/_uoID1pRBTtTW

40. Find the general solution of the

trigonometric equation: 2cos’x + 3sinz = 0

° Watch Video Solution

41.Find the general solution of the trigonometric

equation: cos 3x + cosx — 2cosx = 0

o Watch Video Solution

42, Solve

se 2z se 4 + s 6x =


https://dl.doubtnut.com/l/_dUgRAKGammzx
https://dl.doubtnut.com/l/_ihVSfONm8epy
https://dl.doubtnut.com/l/_Jg4xInXCdsol

o Watch Video Solution

43, Find the general solution

secxrx+sc3x+secdbr =20

o Watch Video Solution

44. Find the general solution of the
trigonometric equation:

sin2x — sindx + sin6x = 0

| o WAF_ L _ L vl ~_ ..


https://dl.doubtnut.com/l/_Jg4xInXCdsol
https://dl.doubtnut.com/l/_CvzQ6vY80l1H
https://dl.doubtnut.com/l/_dmx4jrAZXMXU
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45.Find the general solution of the trigonometric

equation: cos 3x + cosx — 2cosx = 0

o Watch Video Solution

46. Find the general solution of the trigonometric

2

equation: 2cos“z 4 3sinz = (

o Watch Video Solution



https://dl.doubtnut.com/l/_dmx4jrAZXMXU
https://dl.doubtnut.com/l/_jEJHQnwCMQnq
https://dl.doubtnut.com/l/_CFrI52EYiwgH

